EARAROBREBRT —5 XN—ZXBISH—F 20224F988H () 8EISEHSH

PR sEER 1 YSR3® ‘(fﬁl £ ‘[%EH%FEEH — | & 14000 fEE
[xE&] 15:620,000H  23%&:18,000H  3#&:93,000H  43%&:62,000H  53&:31,000H
RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
HFFY=w g i3 g%ﬁi 1:(3_0).3 7-8-1-1 | 37.5| — 5 :113 ﬁg%i (51
RNV Y- §:JUa—RO7 WEEY hSILRI Y R
AXZJR=—9 3 g%i%am 1:(341).1 43272 |38.0| — | 1 (4;1:) %ggﬁ (##)
RAZASRZ—F B:IAXZNT—5— MER Y R
\°. = b= . A2 _ 25 | [ SR
2F1—T/N—5 3 | ARET 1.(331).7 6-6-3-3 | 38.0 2 (4—21(; %%gtﬁ ()
R:IVHh—0 B:UF7IZI7—2R [Shirdie]
JULYRY33S 4 3 &?g%ﬁ 1:(322).1 5-5-6-5 | 38.4| — 4 (3_922) gg@i (&EH)
RT—)URI—R B:TUYRZA—h ohit  JHBR
. — i} . _A_Q_ _ = & (S
A—tATSvt— 4 3 7}JSI1I§5 (11312/23) 3-4-8-7 |38.3 3 :1+127) iggg (&)
R:O—IRAUXA B:HYISTUF AWVE A0S
TIU—ILTUTPY 43 Eﬁgzgmu% (11312/253 2-2-4-4 |39.3| — 8 | 430 g%g? (54
AN —_— . » (+6) :l 7 .
R:XAIZT7—R B:LAFDYR EifE =
~ s t 3 | EWE 1:33.0 8-7-7-6 |38.9| -— 7 36 | BOEE (8
7\1|1|P¥RU=F=0 © s @ G | B mET L
R:dqw hUAR—O BNAREVR HET7—L
e — RETTE : -1-5- - FXRG— (W)
8l5|5| FZIVA7A 3 25T &§$ A ¢ :% e
R:XVUSTvR BE1—-F4HI5V ==
@ 11— —BBIEfI
10—+— 5,6,3,7,8,2,4,1
20—F— 5,6,7,3,8,2,1,4
30—7— 4,7,2,6,5,8,1,3
43— — 4,7,2,6,8,1,3,5
o ILRE
B B 4 9604 JA R 4-7 380M4 5= 4-7 1,310 3EE 2-4-7 1,020M
7B B 4 190 2-4 5304 ==} 4-7 3,560 3EH 4-7-2 11,290
7 120 2-7 1804
2 120/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



